1. Match the schools with the statements that define them. Write 1, 2 or 3 next to each statement.

a) This school has a regular building.

b) This school’s walls are as natural as can be.

c¢) This school doesn’t get any sunlight.

d) Students are decision makers in this school.

e) This school is closed now because some politicians found it embarrassing to have in their country.
f) People decided to establish this school because they were worried about their security.

2. Answer the questions briefly.

a) Why didn’t the first school have a school building?
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